EXAMPLE PROBLEM 10.20

ASSIGNMENT PROBLEMS 10.7,  10.24   , 10.39
10.7  Compute the rate of some reaction that obeys Avrami kinetics, assuming that the constants n and k have values of 3.0 and 7 ( 10-3, respectively, for time expressed in seconds.
10.24  Figure 10.40 shows the continuous cooling transformation diagram for a 1.13 wt% C iron-carbon alloy.  Make a copy of this figure and then sketch and label continuous cooling curves to yield the following microstructures:

(a) Fine pearlite and proeutectoid cementite

(b) Martensite


(c) Martensite and proeutectoid cementite

(d) Coarse pearlite and proeutectoid cementite

(e) Martensite, fine pearlite, and proeutectoid cementite
10.39  For a eutectoid steel, describe isothermal heat treatments that would be required to yield specimens having the following Rockwell hardnesses:

(a) 93 HRB,


(b) 40 HRC, and


(c) 27 HRC.
